printed: 03.06.2019

DS-TPR30-Standard-CN

METEE M -50 °C Z 250 °C
SRz

30 %:N

Az 53RtE)AE

HHRE

W RELMRAT M R A316L
A E

BE

RERAHIE

WIS

METHE

— AR R

MAFLAE . =ERAR

TPR30

=T E -50 ... +250 °C
METH PT100
HiEER G1/2"
1/2" NPT
RITERE 6 mm (#EARE 50 ... 500 mm)
8 mm (FEANRE 50 ... 500 mm)
HBNRE 50, 100, 120, 150 mm
ITEE, #HE 20 Nm
R HARERE: 3161
R#F: 316L
WHES 1xPT100, 2- %I

1xPT100, 3- £l
1xPT100, 4- £

METHNEE FE IEC 60751 B &
A%
¥E @ 100 °C ~ 1 Kelvin

e iz A 18] tsy<5S ty<10S (IRIFERE 6 mm)

HSERE DIN EN 175301 - 803 A ##Hr £#fk
B EsTEk M12x1, 4- §+

HEREEE -40 ... +125°C

B RESEE 40 ... +125 °C

REIM 754 IEC 60751 <3g

B5HPER 54 DIN EN 60529

IP 65 ( DIN EN 175301 - 803 A #ifii 215k )
IP 67 ([ EFATE RSk M12x1, 4- §t)

PR

0.1...1.0mA




printed: 03.06.2019

DS-TPR30-Standard-CN

TPR30 - X - XX XXX X - XXX - X -
B = B4
A = A%
12 = 1xPT100, 2-wire
13 = 1xPT100, 3-wire
14 = 1xPT100, 4-wire
525 = -50...+250 °C
6 = 6 mm
8 = 8mm
050 = 50 mm
100 = 100 mm
150 = 150 mm
G = G1/2"
B = 1/2"NPT
L = DIN EN 175301 - 803 A fifi 24k
M = ERMEEL M12x1, 4- £
DIN 175301-803 A M 12x1
i E4hHk B A=k
‘ ca. 48 )
A [ D

ca. 74
—)
.,
>

~Y SW27
A
Sy
|
I s

ca. 60

Swar

al | ®d

= f51):
Ul BANRE
®d BRIFERE

DIN 175301 - 803 A

&t 2-% 3-% 4-%
1 R R R
2 w w w
3 R R
~ w
M12x1
&t 2-% 3-% 4-%
1 R R R
2 R
3 w w
4 w w w

AFMPEEES R R ER MR A G X,

T ARBRRI R A SRR, HHRRBREARER T,

AR FHE




